ADD L IWVID L X LINDOD I NU U 1 1LUIN)D

40" DOUBLE DROP LEAF TABLE

|- ~+*-BEFORE YOU BEGIN, KINDLY.EOLLOW.THE. ASSEMBLY INSTRUCTIONS STEP BY.STEP. ,_ . .va-.

* PLACE ALL WOODEN PARTS ON A CLEAN AND SMOOTH SURFACE SUCH AS A RUG OR CARPET TO AVOID
THE PARTS FROM BEING SCRATCHED.

* DO NOT TIGHTEN ALL SCREWS UNTIL THE PRODUCT IS FULLY SET-UP.

PARTS LIST HARDWARE LIST . 2 s e Eom 1

NO DESCRIPTION QTY |NO DESCRIPTION QTY

TABLE TOP 20/ %407 y i
i IPC | Al e BOLT M6 X 6oMM ¥ [SFCS
A Tor | B |rarwasz S [8PCS
2 2PCS C " . |8pCs
m SPRING WASHER ‘= =
3 |TABLE LEG 4PCS Dl spioer —Wf1pe
1 _ | E [¥ssX16mm  <omn@ [15pcs
) 3 — L | cHIPBOARD SCREW
4 RUNNER RAIL 4PCS
Fully Set-Up
STER ] : STEP 2

MArATT TRt Aaxrix i xrax 11




ASSEMBLY INSTRUCTION

Page

1 of 1

Model : Arrowback Windsor Chair| | No. Parts List (1 Chair) Qty. No.| Hardware List (1 Chair) | Qty.
H1. ll 1 pc.
P1. ) 1 pe. M4 Allen Key
Seat H2, ”‘m 6 pcs.
M7 x 40 JCBC-W Screw
oo, 2ocs.| | [ 2 pos.
M6 x 50 JCBC Screw
Leg Frame
H4. @ 2 pcs.
. Barrel Nut
[ v e ]
P3. tee | | ps, 9 2 pes.
Front Sgetcher Wood Button
X P4. [ == S — ) 1 pc.
Back Stretcher

STEP 1

Assemble Front Strether (P3) & Back Stretcher (P4) to the Leg
Frame (P2). Fix it by using Barrel Nut (H4) and JCBC Screw (H3)
as shown. Then tighten it up with Allen Key (H1).

~*Donot fully tighten the screw until final step.

STEP 2

Assemble the Leg Frame to the Chair Seat (P1)
with JCBC-W (H2). Then tighten it up with Allen Key (H1).
RED MARKING on the Leg Frame shouid facing BACK

STEP 3

Puil the back Iegé inwards to ensure full connection
between Leg Frame (P2) and Front Stretcher (P3).

STEP 4

Make sure all legs are level. Once level, tighten up all the screws.
Cover the screw holes with Wood Button (H5).




ASSEMBLY INSTRUCTION Page 1 of 1

Model : Arrowback Windsor Chair{ |[No.|  Parts List (1 Chair) Qty. | [No.| Hardware List (1 Chair) | Qty.

_ H1. u 1 pe.
P1. s\ 1 pe. M4 Allen Key
Seat H2. H‘m 6 pcs.

M7 x 40 JCBC-W Screw

P2. 2 pes. H3. Umm 2 pes.

M6 x 50 JCBC Screw

H4. @ 2 pes.
. Barrel Nut

L1 = em— ce— - -}
P3. Tee | | ps, 9 2 pes.
Wood Button

Front Syretcher

Leg Frame

. P4. [e= smmems s ] 1 pc.
Back Stretcher
STEP 1 STEP 2
Assemble Front Strether (P3) & Back Stretcher (P4) to the Leg Assemble the Leg Frame to the Chair Seat (P1)
Frame (P2). Fix it by using Barrel Nut (H4) and JCBC Screw (H3) with JCBC-W (H2). Then tighten it up with Allen Key (H1).
as shown. Then tighten it up with Allen Key (H1). RED MARKING on the Leg Frame should facing BACK

~*Do not fully tighten the screw until final step.

STEP 3 STEP 4

Pull the back Iegé inwards to ensure full connection Make sure all legs are level. Once level, tighten up all the screws.
between Leg Frame (P2) and Front Stretcher (P3). Cover the screw holes with Wood Button (H5).




ASSEMBLY INSTRUCTION Page 1 of 1

Model : Arrowback Windsor Chair| | No. Parts List (1 Chair) Qty. | |No.| Hardware List (1 Chair) | Qty.

HA1. Q Al 1 pc.
P1. a\ 1 pe. M4 Allen Key
Seat M. [ 6 pes.

M7 x 40 JCBC-W Screw

P2. 2 pes. H3. 0 TR 2 pcs.

M6 x 50 JCBC Screw

Hd. @ 2 pes.
. Barrel Nut

(1= m— — >
P3. 1 pe. H5. @ 2 pos.
Wood Button

Front Syretcher

Leg Frame

. P4. o 1pe.
Back Stretcher
STEP 1 STEP 2
Assemble Front Strether (P3) & Back Stretcher (P4) to the Leg Assemble the Leg Frame to the Chair Seat (P1)
Frame (P2). Fix it by using Barrel Nut (H4) and JCBC Screw (H3) with JCBC-W (H2). Then tighten it up with Allen Key (H1).
as shown. Then tighfen it up with Allen Key (H1). RED MARKING on the Leg Frame should facing BACK

“*Donot fully tighten the screw until final step.

RED MARKING

STEP 3 STEP 4
Pull the back legé inwards to erisure full connection Make sure all legs are level. Once level, tighten up all the screws.

between Leg Frame (P2) and Front Stretcher (P3). Cover the screw holes with Wood Button (H5).




